Run 7629

X2/ ndf 1.056 /10
— Constant 5453 + 33.0
5000 — Mean  -0.08533 + 0.00055
B Sigma 0.09001+ 0.00072
4000|—
3000
2000
1000—
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 O 02 04 06 038 1

uncVvyY



Run 7630

X2/ ndf 14.2/11
] Constant 6497 + 35.0
6000 — Mean  —0.08184 * 0.00046
- Sigma 0.08972 + 0.00057
5000 —
4000 —
3000
2000 —
1000 —
B 11 1 | 11 1 | 11 1 11 | 11 1 | 11 1 11 | 11 1 | 11 1 | 11 1
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7636

X2 [ ndf 18.89/10

16000 — Constant 1.613e+04 + 5.700e+01

- Mean -0.08958 + 0.00031

14000 — Sigma 0.08828 + 0.00040
12000
10000{—
8000 |—
6000 —
4000 —
2000

B 11 1 | 11 1 | 11 1 11 | 11 1 | 11 1 11 | 11 1 | 11 1 | 11 1
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7637

X2/ ndf 15.45/10

1400 — Constant 1351+ 16.6

- Mean  —0.09105 + 0.00105

1200|— Sigma  0.08733 + 0.00136
1000|—
800|—
600 —
400—
200—

B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’T 08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 7644

_ %2 I ndf 6.565 / 11
14000 . Constant 1.45e+04 + 5.20e+01
- Mean ~0.08227 + 0.00033
- Sigma 0.09326 = 0.00042
12000|—
10000(—
8000|—
6000 :—
4000 |—
2000 —
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’7 08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 7653

_ x? I ndf 19.07 /11
2500 — Constant 2494 + 21.5
L Mean -0.07911+ 0.00082
B Sigma 0.09608 + 0.00108
2000 —
1500 —
1000 —
500—
_I 1 1 | | | | | | J 1 1 | | | | | | 1 1 | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7779

_ x2 / ndf 14.89/ 10
9000 — Constant 9010 + 42.1

- Mean  —0.09646 + 0.00045
8000 Sigma  0.09314 + 0.00061
7000 —
6000
5000 —
4000 —
3000 —
2000
1000 —

: | | | | | | | | 1 1 | | | | | | 1 1 | | | | | | | | |

-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7780

2
8000 = X</ ndf 16.5/10
— Constant 7682 + 38.8
7000~ Mean  -0.09463 + 0.00050
— Sigma 0.09533 + 0.00070
6000 —
5000 —
4000 [—
3000 —
2000 —
1000 —
:III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7781

_ X2 [ ndf 90.525/10
B Constant 5595 + 33.3
— Mean -0.0968 + 0.0006
5000|— .
B Sigma 0.0919 + 0.0007
4000 :—
3000 —
2000 —
1000|—
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’7 08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 7782

_ x? I ndf 9.557/11
B Constant 1235+ 15.2
1200 —
L Mean -0.1097 + 0.0011
B Sigma 0.09365 + 0.00145
1000 —
800—
600—
400 —
200—
_III|III|IIIJIII|III|III JIlIIIlIIIlIII
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7786

X2 I ndf 13.44 /11

350— Constant 320.1+ 7.6

_ Mean —0.09701+ 0.00256

300— Sigma 0.1032 + 0.0036
250
200
150—
100—
50—

B 11 1 | 11 1 | 11 1 11 | 11 1 | 11 1 11 1 | 11 1 | 11 1 | 11 1
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



8000

7000

6000

5000

4000

3000

2000

1000

Run 7795

_ %2 | ndf 43.79/ 11
- Constant 7898 + 37.6
- Mean  -0.08532 + 0.00052
:_ Sigma 0.1036 + 0.0007
:l | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |

'T 08 -06 -04 -02 0 02 04 06 08 1

uncVvyY




9000

8000

7000

6000

5000

4000

3000

2000

1000

Run 7796

X2 / ndf

Mean
Sigma

5.926/11

Constant 8957 + 40.7

—0.08141+ 0.00044
0.09684 + 0.00058

|
=

|
ol

|
0 0.2 0.4

oL
|
oL
oL
|
o
SN
|
oL
N L

0.6 0.8 1
uncVvyY




Run 7798

x2 / ndf 17.66 /11

12000 —

L Constant 1.17e+04 + 4.67e+01

: Mean -0.07634 + 0.00036
10000 — Sigma 0.09293 + 0.00046
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|III II|III|III|III

-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7799

x2 / ndf 15.47 /10

B Constant 1.27e+04 + 5.03e+01

12000 — Mean -0.07478 + 0.00037

L Sigma 0.09184 + 0.00050
10000 —
8000 —
6000 (—
4000 —
2000 —

B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 04 0.6 0.8 1

uncVvyY



Run 7800

_ X2/ ndf 11.59/ 11
B Constant 1.247e+04 + 4.836e+01
12000 —
- Mean —0.07595 + 0.00035
B Sigma 0.09197 = 0.00043
10000 —
8000 —
6000 —
4000 —
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7801

_ X2 / ndf 11.51/11
9000 — Constant 9004 + 41.1
= Mean —-0.07711+ 0.00041
8000 Sigma  0.09209 + 0.00051
7000
6000 —
5000
4000
3000 —
2000 —
1000 —
:III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7803

— X2/ ndf 12.03 /10
— Constant 1.059e+04 + 4.601e+01
10000 B Mean ~0.07375 + 0.00039
B Sigma 0.08908 + 0.00050
8000 —
6000 —
4000—
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7804

x10° X2 / ndf 51.89/10
- Constant 1.079e+05 + 1.470e+02
100— Mean -0.0737 + 0.0001
: Sigma 0.08912 = 0.00016
80—
60—
40—
20—
i | | | | | | | | 1 1 | | | | | | 1 1 | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7805

— X2/ ndf 21.51/10
- Constant 9397 + 43.4
9000 - Mean  —0.07194 + 0.00040
8000 Sigma  0.08843 + 0.00053
7000
6000
5000
4000
3000 -
2000 -
1000 -
S T T S
"1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7807

2
9000 = X</ ndf 23.22 /10
~ Constant 8679 + 41.7
8000 — Mean —-0.07131+ 0.00042
= Sigma 0.08832 + 0.00055
7000 —
6000 |—
5000 |—
4000 —
3000
2000 —
1000 —
:III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 O 02 04 06 038 1

uncVvyY



Run 7947

_ x? I ndf 84.12/10
L Constant 7497 + 39.3
7000 — Mean ~0.1152 + 0.0004
~ Sigma 0.08197 + 0.00050
6000 —
5000 —
4000 —
3000
2000 —
1000 —
:III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 0 02 04 06 0.8 1

uncVvyY



12000

10000

8000

6000

4000

2000

Run 7948

X2 [ ndf 101.7/9
B Constant 1.257e+04 + 5.252e+01
- Mean -0.1291 + 0.0003
L Sigma 0.07948 + 0.00041
IR B B T A RTE B Lo b b b
-1 -08 -0.6 -04 -0.2 0 0.2 04 06 08 1

uncVvyY



Run 7949

X2 [ ndf 158.6/9

B Constant 1.312e+04 + 5.358e+01

B Sigma 0.07842 = 0.00039
10000 —
8000 —
6000 —
4000|—
2000—

B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7953

2
2500 = X</ ndf 47.94 /10
B Constant 2369 + 22.5
B Mean -0.1367 + 0.0007
~ Sigma 0.07725 £+ 0.00078
2000 —
1500 —
1000 —
500
_I | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -0.4 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7962

_ X2 / ndf 31.53/10
B Constant 1044 + 14.7
1000 Mean ~0.1331+ 0.0010
| Sigma  0.07808 + 0.00117
800—
600—
400
200
B 11 1 | 11 1 | 11 1 11 | 11 1 | 11 1 1 1 1 | 11 1 | 11 1 | 11 1
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7963

_ X2/ ndf 133/10
4500 f_ Constant 4578 £ 31.1
— Mean —0.1388 + 0.0005
4000 — Sigma 0.07763 £ 0.00056
3500 —
3000 —
2500 —
2000 —
1500 —
1000 —
500—
:III|III|III II|III|II III|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7964

2
8000 = X</ ndf 152.8 /10
~ Constant 7681+ 40.1
7000 Mean ~0.138 + 0.000
- Sigma 0.07723 £ 0.00043
6000 —
5000 —
4000 —
3000—
2000 —
1000 —
:III|III|III II|III|II III|III|III|III
-1 -08 -06 -04 -02 0 02 04 06 0.8 1

uncVvyY



Run 7965

X2/ ndf 125/10
B Constant 5217 + 33.3
50001— Mean ~0.1355 + 0.0005
- Sigma  0.07721+ 0.00052
4000 —
3000 —
2000|—
1000 —
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’7 08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7966

X2 [ ndf 194.1/10
- Constant 1.078e+04 + 4.754e+01
10000 }— Mean -0.1361 + 0.0003
— Sigma 0.07763 = 0.00036
8000 —
6000 —
4000 —
2000 —
_III|III|III II|III|II III|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7968

X2 [ ndf 242.2 /10

B Constant 1.038e+04 + 4.666e+01
10000—

B Mean -0.1348 + 0.0003

L Sigma 0.07839 + 0.00038
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|II III|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7969

_ X? I ndf 11.52/9
1400 — Constant 1383 +17.2
= Mean -0.1337 £ 0.0010
1200 — Sigma 0.0808 + 0.0013
1000|—
800|—
600 —
400|—
200—
_I | | | | | | | | 11 | | | | | | | | | 11 | | | | | | | | | | | | |
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7970

X2 [ ndf 80.22 /10

B Constant 1.127e+04 + 4.791e+01

— Mean -0.117 £ 0.000

10000~ Sigma 0.08374 + 0.00042
8000 —
6000 —
4000—
2000 —

B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7972

_ X2 I ndf 19.85/9
9000 f_ Constant 0252 +45.1
- Mean —0.1006 + 0.0004
8000 — Sigma 0.081+ 0.001
70003—
60003—
50003—
40003—
30003—
20003—
10003—
E...|...|... ol bl e b b Ly
-1 -08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 7976

X2 [ ndf 16.76 /9
Constant 2308 £ 22.4
Mean —0.1028 £ 0.0008
Sigma 0.0797 + 0.0010

2400
2200
2000

1800
1600
1400
1200
1000
800
600
400
200

IIILIIlIIIlIIIlIII

|
0 0.2 0.4 0.6 0.8 1
uncVvyY




Run 7982

X2/ ndf 15.53/9

1800 Constant 1732+ 19.4

- Mean ~0.102 + 0.001
1600 Sigma  0.08127 + 0.00116
1400
1200
1000
800|—
600 —
400—
200—

_III|III|IIIJII|III|III II|III|III|III

-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7983

X2 [ ndf 41.08/9
12000 B Constant 1.228e+04 + 5.199e+01
— Mean -0.1071 + 0.0003
B Sigma 0.07993 + 0.00043
10000 —
8000 —
6000 |—
4000—
2000
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7984

14000 X2/ ndf 42.37/9
: Constant 1.321e+04 + 5.379e+01
12000 — Mean -0.1089 + 0.0003
B Sigma 0.0803 + 0.0004
10000 —
8000 —
6000 —
4000|—
2000|—
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -0.8 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 7985

- X2/ ndf 123.9/ 10
— Constant 1.306e+04 + 5.207e+01
120001— Mean -0.1144 + 0.0003
B Sigma 0.08035 = 0.00036
10000|—
8000 —
6000 —
4000 |—
2000 —
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -0.4 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7986

_ X2/ ndf 49.93/9
B Constant 5236 + 34.1
5000 — Mean ~0.1299 + 0.0005
B Sigma  0.07793 + 0.00062
4000 —
3000]—
2000 —
1000|—
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’T 08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 7987

X2 [ ndf 242.6/10
12000 —

L Constant 1.173e+04 + 4.970e+01

B Mean —0.1346 + 0.0003

10000 — Sigma 0.07682 + 0.00034
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|II III|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 7988

- X2/ ndf 120.4 /10
7000 — Constant 6904 + 38.3

B Mean —-0.1347 + 0.0004
6000 — Sigma 0.07675 + 0.00045
5000 —
4000 —
3000—
2000|—
1000 —

_I 11 | 11 1 | 11 1 11 | 11 1 | 11 L 1 | | 11 1 | 11 1 | 11 1

-1 -08 -06 -04 02 0 02 04 06 08 1

uncVvyY



Run 8025

X2/ ndf 16.33/10

- Constant 1085 + 14.6

1000 — Mean ~-0.1118 + 0.0012

- Sigma 0.08975 + 0.00158
800—
600|—
400 —
200|—

_III|III|III II|III|IIIIII|III|III|III
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8026

X2 [ ndf 35.04/11

2500 — Constant 2580 +22.1

— Mean -0.1083 + 0.0007

B Sigma 0.0904 + 0.0009
2000 —
1500_—
1000_—
500|—

_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 04 0.6 0.8 1

uncVvyY



Run 8027

X2 / ndf 77111
10000 — Constant 1.021e+04 + 4.366e+01
— Mean -0.1068 + 0.0004
: Sigma 0.09032 = 0.00046
8000 —
6000 —
4000 —
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8028

X2 [ ndf 84.23/11

- Constant 1.315e+04 + 4.967e+01

12000 — Mean -0.1028 + 0.0003

- Sigma 0.09071 + 0.00041
10000 —
8000 |—
6000 —
4000 —
2000 —

B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8029

X2 [ ndf 48.93/11

B Constant 1.133e+04 + 4.621e+01

- Mean -0.1052 + 0.0004

100001~ Sigma 0.08981 + 0.00043
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 8030

_ x? I ndf 66.14 /11
7000— Constant 7123 + 36.7

- Mean ~0.1061 + 0.0004
6000 :_ Sigma 0.08912 + 0.00053
5000 |—
4000 —
3000 —
2000
1000{—

_I 11 | 11 1 | 11 1 11 | 11 1 | 11 1 11 1 | 11 1 | 11 1 | 11 1

-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8031

_ x? I ndf 81.47/11
B Constant 5153+ 31.2
5000|—
N Mean ~0.1041 + 0.0005
- Sigma  0.08925 + 0.00063
4000 —
3000|—
2000|—
1000 —
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’T 08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8039

10000 X2/ ndf 70.42 /11
n Constant 9685 + 42.5
- Mean —-0.1015 + 0.0004
— Sigma 0.09081+ 0.00047
8000 —
6000 —
4000 —
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8040

— X2 / ndf 48.44 /11
- Constant 9444 + 42.0
9000 —
— Mean —-0.103 + 0.000
7000:—
eooof—
5000:—
4ooof—
3000:—
20003—
1000:—
:III|III|III II|III|IIIIII|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 04 0.6 0.8 1

uncVvyY



Run 8041

X2 / ndf 24.33 /11

- Constant 3252 + 24.7

3000 — Mean ~0.1016 + 0.0007

: Sigma  0.09203 + 0.00086
2500
2000
1500 —
1000 —
500

B | | | | | | | | 1 1 | | | | | | 1 1 | | | | | | | | |
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



8000

7000

6000

5000

4000

3000

2000

1000

Run 8043

X2/ ndf

Mean
Sigma

48.78 /1 11

Constant 7699 + 37.9

—0.09956 + 0.00044
0.09216 + 0.00055

I
(BN

I
O

|
0 0.2 0.4

oL
|
oL
oL
|
o
SN
|
oL
N

0.6 0.8 1
uncVvyY




Run 8044

X2 / ndf 55.11/ 11
- Constant 6679 + 35.2
6000F- Mean  -0.09884 : 0.00048
- Sigma 0.09328 + 0.00061
5000 —
4000 —
3000 —
2000 —
1000 —
B 11 1 | 11 1 | 11 1 11 | 11 1 | 11 1 11 | 11 1 | 11 1 | 11 1
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8045

X2/ ndf 21.78 /10

10000 B Constant 9786 + 43.8

L Mean -0.1+ 0.0

= Sigma 0.09336 + 0.00059
8000 —
6000 —
4000—
2000 —

_I | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 04 0.6 0.8 1

uncVvyY



Run 8046

X2/ ndf 59.73/11

8000 —

— Constant 7843 + 38.4

- Mean ~0.1007 * 0.0004
7000 — .

- Sigma  0.09053 + 0.00053
6000 —
5000 —
4000 {—
3000 —
2000 —
1000 —

:III|III|III II|III|III II|III|III|III

-1 -08 -06 -04 02 0 02 04 06 08 1

uncVvyY



Run 8047

_ X2 I ndf 21.91/11
B Constant 2704 £ 22.6
2500 — Mean ~0.106 + 0.001
B Sigma 0.09117 = 0.00092
2000 —
1500 |—
1000|—
500 —
_| | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
’7 08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8048

X2 [ ndf 76.94 /11
- Constant 1.073e+04 + 4.493e+01
10000 — Mean -0.1062 + 0.0004
: Sigma 0.09058 = 0.00045
8000 —
6000 —
4000 —
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8049

2
2500 = X</ ndf 24.16 /11
~ Constant 2415+ 21.2
B Mean -0.1073 £ 0.0008
— Sigma 0.09139 + 0.00097
2000 —
1500 —
1000 —
500—
_I 1 1 | | | | | | 1 1 | | | | | | 1 1 | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8051

3500 — X2/ ndf 35.41/10
L Constant 3348 + 25.7
u Mean —0.1111+ 0.0007
3000 — .
- Sigma 0.08862 + 0.00087
2500 —
2000 —
1500 —
1000 —
500{—
_I 1 1 | | | | | | 1 1 | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 8055

- X2 / ndf 51.78 /10
B Constant 6390 + 35.8
6000 — Mean -0.1156 + 0.0005
N Sigma 0.0869 + 0.0006
5000 —
4000 —
3000
2000 —
1000 —
_I | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8057

X2 [ ndf 114.9/11

12000 B Constant 1.181e+04 + 4.713e+01

— Mean -0.1043 + 0.0003

10000 [ Sigma 0.08987 + 0.00042
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8058

— X2/ ndf 105.5/ 10
10000 — Constant 1.011e+04 + 4.478e+01
B Mean -0.1099 + 0.0004
: Sigma 0.0894 + 0.0005
8000 —
6000 |—
4000 —
2000—
i | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 04 0.6 0.8 1

uncVvyY



12000

10000

8000

6000

4000

2000

Run 8059

— X2/ ndf 110.3/ 10
— Constant 1.252e+04 + 5.005e+01
- Mean ~0.1118 + 0.0004
B Sigma 0.08923 + 0.00047
IR B B ol b sl b b

-1 -08 -0.6 -04 -0.2 0 0.2 04 06 08 1

uncVvyY



12000

10000

8000

6000

4000

2000

Run 8072

— X2/ ndf 162/ 10
— Constant 1.253e+04 + 5.000e+01
- Mean ~0.1138 + 0.0004
B Sigma 0.08923 + 0.00046
B | | | | | | | | 1 1 | | | | | | 1 1 | | | | | | | | |

-1 -0.8 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8073

_ X2 / ndf 32.25/10
Z +
4000 F— Constant 4141+ 28.7
- Mean ~0.1129 + 0.0006
3500 :_ Sigma 0.08845 + 0.00079
3000 —
2500 —
2000 —
1500 —
1000 —
500 —
:I 1 1 | | | | | | 1 1 | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 8074

_ X2/ ndf 90.11/10
9000 = Constant 8874 + 42.2
- - +
8000 M_ean 0.113 + 0.000

- Sigma 0.08715 = 0.00052
7000 —
6000 —
5000 —
4000 —
3000
2000
1000 —
:III|III|III II|III|IIIIII|III|III|III
-1 -08 -06 -04 -02 O 02 04 06 038 1

uncVvyY



Run 8075

2
4500 = X2 / ndf 37.95/10
- Constant 4280 + 29.3
4000 - Mean -0.1124 + 0.0006
= Sigma 0.08917 + 0.00080
3500 —
3000
2500 —
2000 —
1500 —
1000 —
500
:III|III|III II|III|IIIIII|III|III|III
-1 -08 -06 -04 -02 O 02 04 06 038 1

uncVvyY



Run 8077

_ X2 [ ndf 73.06/10
7000 — Constant 6996 + 37.5

- Mean -0.1093 + 0.0005
6000 Sigma 0.0873 + 0.0006
5000
4000 —
3000 —
2000
1000 —

:I 11 | 11 1 | 11 1 11 | 11 1 | 11 1 11 | 11 1 | 11 1 | 11 1

-1 -08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 8085

- X2/ ndf 21.28 /10

- Constant 8343 + 40.9
8000 —

- Mean  -0.09032 + 0.00043
2000 :_ Sigma 0.08847 + 0.00056
6000 —

5000 —

4000 —

3000 —

2000 —

1000 —
:III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 O 02 04 06 08 1

uncVvyY



Run 8086

X2 [ ndf 47.29/10

12000 N Constant 1.225e+04 + 4.937e+01

B Mean -0.091 + 0.000

L Sigma 0.08849 + 0.00046
10000 —
8000 —
6000 —
4000 —
2000—

_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8087

_ X2/ ndf 18.89/ 10
— Constant 1.251e+04 + 4.964e+01
12000 —
u Mean —0.07846 + 0.00037
B Sigma 0.09043 + 0.00048
10000 —
8000 —
6000 |—
4000—
2000
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8088

X2/ ndf 19.52 /10
— Constant 3708 + 27.2
3500— Mean  -0.08383 + 0.00063
- Sigma 0.08654 + 0.00079
3000
2500 —
2000 —
1500 —
1000 —
500 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -02 0 02 04 06 08 1

uncVvyY



Run 8090

X2 / ndf 9.026 /10

4500 — Constant 4399 + 29.5
4000: Mean -0.07866 + 0.00063

- Sigma 0.09098 + 0.00082
3500 —
3000 —
2500
2000
1500 —
1000
500 —

:III|III|III II|III|III II|III|III|III

-1 -08 -0.6 -04 -0.2 0 02 04 06 0.8 1

uncVvyY



Run 8092

_ X%/ ndf 9.905/ 10
: Constant 1.296e+04 + 5.078e+01
12000 Mean —0.07451 + 0.00035
B Sigma 0.08975 + 0.00046
10000 —
8000 —
6000 —
4000—
2000 —
B | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8094

X2 [ ndf 12.86/10

12000 _— Constant 1.189e+04 + 4.878e+01

- Mean -0.07207 + 0.00036

10000!— Sigma 0.08877 + 0.00047
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8095

X2 [ ndf 16.59/10
~ Constant 1.096e+04 + 4.670e+01
10000 — Mean -0.07471+ 0.00038
— Sigma 0.08863 + 0.00049
8000 —
6000 |—
4000 —
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8096

_ X2/ ndf 8.81/10
— Constant 1.109e+04 + 4.695e+01
10000 M.ean —0.07416 + 0.00038
L Sigma 0.08944 + 0.00050
8000 —
6000 —
4000 —
2000 —
_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8097

X2 [ ndf 14.18 /10

12000 — Constant 1.243e+04 + 4.975e+01

- Mean -0.0736 + 0.0004

B Sigma 0.09066 + 0.00049
10000 —
8000 —
6000 —
4000 —
2000 —

_III|III|III II|III|III II|III|III|III
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



Run 8098

_ X? I ndf 25.75/10
12000 — Constant 1.202e+04 + 4.873e+01
: Mean —0.07554 £ 0.00037
— Sigma 0.09037 = 0.00049
10000 —
8000 —
6000 —
4000 —
2000 —
B | | | | | | | | 1 1 | | | | | | 1 1 | | | | | | | | |
-1 -08 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY



16000

14000

12000

10000

8000

6000

4000

2000

Run 8099

X2 [ ndf 36.46/11
- Constant 1.714e+04  5.682e+01
— Mean ~0.07972 + 0.00029
- Sigma 0.09046 + 0.00036
I BT B I BRI B cao e b
-1 -0.8 -06 -04 -0.2 0 0.2 0.4 0.6 0.8 1

uncVvyY
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